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Lecture: 10
Hitori de ikimasu ka?

—A T fFEET pP

Will you go alone?

Konnichiwa,” Z AZ 5 /3@ and a warm welcome to all of you to the class in the second
lecture series on Japanese Language and Culture. So, today I have a passage written by one of
my students and in the passage he has used the particle de. CEH in different ways. So, we
have done some usage of particle de.~ Ty earlier and we are going to do some now today.
So, let us see how he has used some of these different ways of using particle de. T4 and

making our conversation better. So, let us see what we have?:

(Refer Slide Time: 01:02)

Particle de/T
Zehi/ 0
Kanji/®¥F

I will read the passage once and I am sure you will understand most of it, whatever is left we
are going to do it right here.
(Refer Slide Time: 01:15)



Passage

X&

So, just listen to the passage very carefully=d4=). So, I am sure most of it is understood but
there are some places where de,”” C&) has been used in a different way.
(Refer Slide Time: 02:10)

Samui kara kinou watashi wa gozen shichi-ji han ni
okimashita. Ha o migaite, asagohan o tabemashita. Ku-ji |
ni baiku de kaisha ni ikimashita. Kaisha de shigoto o
shimashita. Soshite roku-ji-han goro tomodachi to

isshoni ryou ni kaerimashita. Sono ato futari de gohan o
tsukurimashita. Totemo tsukarete ita node, gohan o

tabeta ato, 10 ji goro nemashita. Yuube yuki ga
furimashita. Desu kara kyou yuki de kaisha ni ikimasen

. deshita. Uchi de yasunde imasu.

So, let us see what those are but before that we will quickly revise all that we have done.

(Refer Slide Time: 02:18)



DAL AD KEE R R BB D BEELE,

3% BUT.E CE BNELE, ABZ S1Y
T Sl fTEELE, 2% T HE £ LELE,
ZLT ABE O3 RE & —#IC Y5 (2
RUEL-. 20 HE —AT ZfR & HEYELE.
LT BhTWE OT CffiE BRE He +B
=5 BELE,

HBHR SN BYELE, TIHS pE T %I
i WEFEHA TLE.R T KATLET,

This is in the script for you there are lot of kanji’s given, you do not have to read all the
kanji’s memorize all the kanji’s; try to find the ones that you know those are easy those have
been coming regularly in your conversations and in the passages that I have given you and try
to remember those and use them in your writing.

(Refer Slide Time: 02:44)

e de Pelimn

Toshokan de benkyou shimasu. @
HEfE T RELET.

Datods [ vihaliow & Dt ha S
Shizuka(desu karaé}toshoukan@ benkyou shimasu.
B 2 o HEE T M LES,

mainichi =/, >
Toshoukangllo naka wa|shizuka da kara, soko e itte, benkyou shimasu.
REMO hid HHTIHL. TN T2T=AELILFS,

Now as you already know particle de.”” ) can be used in various ways in the language
and we have studied particle de. Cay for action earlier, for example you have learnt
toshokan de benkyou shimasu. & L k70°A T #5 L F 769 sSo place de.” T

tF) action, I keep repeating all this again and again: Sso, that you can make better sentences

and if you have not understood it earlier you can understand it now. So, toshoka ~[X]| ZHF



F) is library and benkyou shimasu -~ #)57% | % 7= as you already know at a place an

action is done.

Now in conversation you can ask doushite toshokan e ikimashita ka.” & 5 L T [XIZHE

~ f7&F L 7ve question. So, well shizuka desu kara,” L 97> T9 726,
Sso, the reason given is shizuka ~ L 77 it is quiet desu kara, toshokan de benkyou
shimasu.” T3 726,  [KFEE T @E L F7@%) why do I study because it is
quiet over there. aNow- foshokan no naka wa.~& L k724 @ H |2, H9=Sso0, now
the whole sentence is there the full complete sentence toshokan no naka wa shizuka da kara,
soko e itte, benkyou shimasu,” & L L7004 @D )4 LI EobH, 2 o~

17> C, #9# L F 7,67 1 go over there and then I study the reason given is it is shizuka
L9776 it is quiet. So, this is how you will use particle de. T you have also done

te.” T form of the verb after performing this activity the second activity is done.

So, once I go to the toshokan.~ & L J 7>/ A48 where it is very quiet, very peaceful then I
study over there. You can also add time expressions over here foshokan no naka wa shizuka
da kara, mainichi,” & L L70A @ H1 jd LI b #HED, every day
soko e itte benkyou shimasu” %= -~ 17> T #9 L F7 or tokidoki 4% @)

can also be used which is sometimes. So, you can also add time expressions.

(Refer Slide Time: 05:17)

Using particle de as means of transport to go some where. | oy

e do
| =B N
Mainichilbasu|de kaisha e ikimasu. ;
#H NR T 21 ~ LW&EFET,
by ok aessh® Srpll i

/
A: Nan de kaisha e ikimasu ka?/ il C&£#t~ f72F3 »7?
B: Densha de ikimasu/ B® T 79,
A: Nanji no densha desu ka? /ol @ T|HE T H?
B: Roku-ji no densha desu/ <B¥ O THE TT

i | v (e Srsaon

A: Tokyoelkimasu ka?/ T WEA TEET M7
B: Shigoto de ikimasu/ ¥ T FEFT,




The second usage of de.” CéH= which we have studied earlier is by means using a certain
method, using a certain thing an object and performing an activity. So, let us see what it is?
Over here we are going to do for transport by this means I go from one place to another. So,
my mainichi basu de kaisha e ikimasu,”#H /XX T Zf ~ 7&E7¢FBD 1do
not have to elaborate anymore because I am sure you know you can add any mode of

transport over here instead of bus.

Busu de.” 7N X T, kuruma de.~ HL T, jitensha de kaisha e ikimasu,” FH#-H# T XAt

~ 77& F 7. But watashi wa ashi de e ikimasu,” . |14 E T~ 7&F 7.0
is not used, aruite ikimasu 50> C {7& £ 7. @HaNow we have a small conversation
here nan de kaisha e ikimasu ka,” if C =f- -~ 17&F 9 2°? Nan de.” il T is
by what means. So, over here same pattern densha de ikimasu ~&EH T [7E&FET
Nan-ji no densha desu ka fiflF @ &H T9  7? You have done nan-ji~fils,
roku-ji no desu.” NIF @ T9 (4 tThere is another sentence over here which has nan
de 1o T, nan de Toukyou e ikimasu ka~fiJ T Hi -~ {7&F7 2?@). So, the
answer is not by means but purpose, shigoto de ikimasu ~ 1% T {7 % 7. So, when
you are using nan de.~ i TEFE) it has two meanings one is ‘by what’ means byAwhat-means-
and the second one is ‘why’, what is the reason. So, from context from what you have been

talking about nan de 7 /. CH) is made very, very clear.

Though as foreigners we think that if we have nan de 7z /o C-¥& here and nan de 72/
T here how are we going to differentiate. So, I think all students from the Hindi belt will
know how we use ka/(Ft) in Hindi, ka1 is also for tomorrow and kaltFE) is also for

yesterday. So, in a similar manner from context we can understand.

(Refer Slide Time: 08:00)



Particle ‘de’ indicates that something is being used to
perform an activity/ action.

ol weg (XD

Watashi wa ka—dharaimasu. (pay by card)
Fx Hh—F T [FoLET,

o =5 /) ﬁOTJ‘W
) Ltz th
Pen de kaite kudasai/kakanaide kudasai. (write in pen)
Ry T BLWTLEEL 1 EHVENTEEL,

Q?) S
Keit: -t u. ( (materia
l-ril\ @Csetagim&m;;%?' o = l))

(alrubar%

Now the third usage of particle de.~” T that we have learnt was with the help of or means
used to perform another activity, for example we learnt pen de kakimasu~~> T Z&
¥ 96 in your kaiwa. X FE) you had watashi wa ka-do de,.” % 14 U — F T
) ka-do de.~" 77— T over here is card, your debit or credit card watashi wa ka-do de
haraimasu,” . (4 27— T #A0>3E 74 with the help of by using I will pay is
what it means pay by card as is given over here or ka-do de haraimasu.” 77— F T 456
VVE T or pen de kakimasu,” <> T & & 7 or suppun de tabemasu, X > 7>

T & F 7 @H. So, we have done this earlier now let us see what else we have pen de
kaite kudasai. <> T ZFI T FIEB.

It can also be a request you are filling a form pen de kaite kudasai ~~<> T T/
&) or enpitsu de kakanai de kudasai.” % A TN> T FRNDT X 0ED or
you hear this a lot when you are writing an exam your teacher will generally say pen de kaite
kudasai, <> T ZFIT< /20D write in pen, pen de kaite kudasai, <>~ T

ZHH T < /2 &1 or sometimes you have to write in pencil also pen de kakanai de kudasai
SN T E T <2 &1, So, se with the help of pen you are performing an
action. Keito de se-ta o amimasu,” 11t T T—%— 2z BARAFET, keito 1T E
is wool; keito de se-ta o amimasu 11 E T T—%— & BHAET, by some
material. Kiji de doresu o tsukurimasu,” % T FL X & {(EV ¥ 7 now-teday:So,

with the help of cloth I make a dress. So, by using some material you make another thing,



amimasu,” & 7 ¥ 7= the verb is a amu % 7rmeen dictionary form which means to

knit.

So, keito de,” 171 % T, teday=with the help of keito, 1/ > & what am I able to
make, I am able to make a sweater and sweater is written as se-ta-~ & — % —. So what is the
amibari & 730 284 Now amibari” & 713 is kmttknitting needles. So, amibari de
se-ta- o amimasu,” ALY T t—5— & B5AFET & I knit a sweater with
the help of knitting needles. So, using something you perform an activity. So, there is a small
mistake here se-ta- & — % —@4) it is long sound please remember.

(Refer Slide Time: 11:03)

Uoed —
Mira wa mainichi kuruma o tsukatte kaisha e ikimasu.
25 I HE # FoT &1 ~ 7EFEY
| Mira wa mainichi kuruma@ kaisha e ikimasu. bj,

5 I E T £ ~ T7FFS

Mira wa pawapointo o tsukatte happyou o shimasu.
S5 [ ORIV E #oT RE & LFT,
Mira wa pawapointo(de¢/happyou o shimasu. wAlk W/AO‘L

25 [k NRIRAU T Rk F LFET

Mira wa kara-pen o tsu Il?ﬁt/c repo-to o kakimasu.

27 Ik H3— RY & f#-T LiR—F % HEFET,
| Mira wa kara-pen@repo-tookakimasu. .}.1/ Wk -

25 I Hh3— RV T LiR—+ % »EFET,

Now look at this one. So, she uses a kuruma - H##¥F=) and goes to office. That is the meaning
she goes to office every day by car. Meera uses PowerPoint for presentations so Mira wa
pa-wapointo de.” X 7 |4 /NU—i4 2} T, ) with the help of or by, happyou o
shimasu ~ %7 Z L % 7 she does her presentation. There is another one for you
Mira wa kara-pen o tsukatte "3 7 |Z W72 & (o karapen T 7N s
colour@F) pen or basically felt pens o tsukatte repo-to o kakimasu,” % (&> T LAv—
r & FEXET, use o repo-to o kakimasu & LAN— | & FEXET. Mira wa
karapen de,”” X 7 (& U 7> T, by/with repo-to o kakimasu,” L F— | & ZF
& &7 6. So, this is how you will use particle de.~” T, using something to perform
another action. Now another de -~ Cd=) which we learnt is used with numbers. So, let us see

what this de ~ TE) is?=



(Refer Slide Time: 12:39)

Hitori de ikimasu / — AT 7&FY, (alone) |
Minna de ikimashou / #AKT / (—#I2)FTEELELS, (ogether) |

b

San nin de benkyou suru / = A T #1589 5,

(@)

Jibun de ikimashita/ B% T f1&%L1=. (by myselr)

B b [hn

So, hitori de ikimasu,”— A T 17& % 768 1 go alone, minna de ikimashoutFE) let us
go together; three of us will do benkyou ~ #7#d) together, san nin de benkyou shimashou
=N i L E Lk o) let us do benkyou 1 5#EEY together. So, it could be any
number over here any, number could be used over here hitori de.”— A C, ni-nin de.” A

T, san-nin de.” — A T, yo-nin de. VYA T meaningd) basically alone or two
people, three people, four people whatever the number. Now there is another word which is-
Jjibun.~ F 77, jibun de ikimashita.” F 7> T {17&F L/26F9. So, what is the difference
between hitori de.”— A T@H) and jibun de.” [17; @) both have this meaning of

alone.

So, what is the difference between hitori de,”— A T and jibun,~ H 57?F)-and-EF-w
Well one difference is this is an adjective and this is a noun, but there is a difference in the
way you use it or should say the way you understand it or what you are trying to tell your
listener. Now let us see what it means?: Now hitori de.”— A T@) there means when you
do something alone when you do not take anyone's help without anyone's help you perform

an action alone.

(Refer Slide Time: 14:20)



hitori de alone, by oneself, to do something without
taking anyone's help.

jibun de alone, by self, can do something alone
which others can also perform.

Now jibun de.” 77 T also means alone, you perform the action alone but over here the
basic difference is that jibun de.” [ 77 ¥ you can do something alone, you have the
ability to do something alone something that others can also do you are saying that I did this I
performed this action on my own and jibun de. [ 57 T means I did something alone

that is the difference.
(Refer Slide Time: 14:53)

Rao: Kirei ni kami o kumimashita ne. <£’ ‘
Thuy 1T 2 # #i#4FELE K.
Mira: Sou desu ka! Jibun de kami o kumimashita yo.

%53 T M EST #@HFELE K,

Mainichi kazoku no tame ni jibun deryouri o tsukurimasu.
#H Rk O =®HIZ B T HE * FYET, \
Mainichi hitori de 20 nin no tame ni ryouri o tsukurimasu. ‘

BE —AT —tA O LI HE & T,

A: Se-ta wa kirei desu ne. Doko de kaimashita ka? ‘

t—4— & Fhiv TF B, EC T BUOELE Hh?
B: Jibun de anda/tsukutta se-ta desu. F.& il |
Kore wa hitori de anda/stukutta seta desu M ‘

B% T ®WAF ol £—8— TF. ot
— AN T Ao~ t—48— T9,

Now I will give you some sentences and it will make it very clear, kirei ni kami o
kumimashita ne,” 40> 12 A < AHF L 42 Kumimasu < B F 7 is to
braid, kumu.~ < Z¢ is the verb kumu. < @y means to braid or to plate your hair make a
braid. Jibun de.” [ 57 T means@¥ 1 did it alone all by myself I did not take any help. So,

you are telling something that I was able to do it I could do it on my own others can also do it



they can also help me but this time I did it on my own. So, there is also a sense of

achievement over here.

So, I can always take help from someone to help me cook but I am trying to tell my listener
that mainichi -7 H@&+) every day for my family I make food myself I do not take any help
from anyone. So, it is just the feeling that you want to convey that I do this myself for
someone or just do it for myself on my own. Now over here you can compare mainichi hitori
de ni-juu-nin no tame ni ryouri o tsukurimasu,” ##H —A T —~+A D DI
FIEE Z (E D F 7,649 without taking any help 1 did it alone hitori de ni-juu-nin no tame
ni ryouri o tsukurimasu,”— A T —~+A O & I FEE = (E)FIED
for 20 people 1 make ryouri FlPEFE) and kazoku no tame ni jibun de ryouri o
tsukurimasu,” Fp%E O 212 Hzp T FHEE & (EV F 7@ that 1 take this
trouble of making ryouri "V & 5 V@) myself. So, it is just the feeling that you are
conveying. Over here hitori de.”— A @4 alone without anyone's help over here others
can do but I do it of choice. Jibun de tsukutta se-ta- desu.” F 45> T {(EFo/- T—X—
T84 what does it mean? That the person is trying to say that I have not bought it I
could have bought it but I have not bought it I have made this on my own without anybody's
help 1 have done it all by myself tsukurimasu.1E9 %9 or amu.” & o, 1 told you
earlier amu~&7r, amimashita,” BHAE L /=@ like nomu LT, nonda  BLAZ
similarly in past tense this is the anda se-ta- desu.” A /= E—%— T (%) this is
the se-fa-, this is the sweater that I have made my=selftF=) knitted myself. Kore wa hitori de
anda se-ta- desu.” ZjL 14 — AT bA T—F— T7&B 1 have not taken
any help, nobody helped me hitori de.”— A@4= 1 have made it so, all alone without any
help.
(Refer Slide Time: 18:13)



hitori de / — AT alone, single handed, to do
something without taking
anyone's help.

jibunde/ B#'T alone, by myself, can do
something alone which others
can also do, the desire to do the
activity is there, there is a sense
of achievement/of having
accomplished something.

Now another de " Cey which is used in daily conversation say when you go shopping is used
to ask or tell price for example futatsu de hyaku en desu.” —-> T FM  T9.68.
(Refer Slide Time: 18:29)

Using de to show amount, cost/price (for, price)
I @‘Q _— Num/]
Sen-en e ringo no basuketto o kaimashita. (for) \\w7/
FH YAZ O N\Ryk # BUWELEZ/Bof=. i

® ‘ Yottsuni—sen—en desu/ DT ZFMH TT,
» =
v
M 00)=200
A: Ringo wa ikura desu ka? YAZ (X X5 TT H?
B: Kore wa futatsu de 200 en desu. Kono ringo wl;a ichi kiro

1000 en desu. Mbe el e~
Zhig=>o7T ZEATY ., ZC® YAZIEZ —FoTFHATY,

So, let us see how it is used. Using de.” T} to show amount or cost, a certain thing is for
this much or so; much amount is for this much. So, let us see sen en de ringo no basuketto o
kaimashita.” T T VAT @D NXZrw | & HWELL, sen en de.” T/

T basket the Rringo basket was for sen en.” 7T/, @) basically meaning is=for; for a
certain amount I bought this basket. Yottsu de ni-sen-en desu,” V7> T T T,
) four of them together yottsu de.” V-2 CHthey all of them together, ni-sen en desu,”
T M T4, it is 2000 yen. You can look at this conversation as well-#E). So,



there are two baskets lying over there two heaps of oranges or apples you can also have

oranges or anything any noun that you want to put.

So, this first basket there are two apples over here the two present over here are for 200 yen
whereas kono ringo wa, = D VAT 3@ this basket kono ringo basuketto wa, =
D DAZT NXLZ o b (T or this ringo wa ichi kiro de.” VAT (& —Fnrz T
/lkg de sen-en desu,”” T TF/1 T7EH. So, 1 kg of apple is 41000 yen. So, that is how
you would show cost or a certain thing is for this much or certain number of things is for this
much as is shown over here. Over here there is number/over here also you can see number,
here it is price. So, show basically amount or price of a certain object. Now there is lot of de
" Cey-te-day for you some of the usage of de.” TEH=) is new some is old.

(Refer Slide Time: 21:01)

De - used for giving reason for doing or not doing an activity. |

(ag)ons® —

Mariko san wa netsu ga arimasu. Marike san wa gakkou o yasumu. \_

Mariko san wa netsu de kyou gakkou e@}n_lasenl// ,1,Jd~° M
HEFA X B C 58 FE ~ KEth, O

2
Kinou by 0|lkl.5hlg0t0 o shimasen deshita.
KH Ba ¢ HE £ LEBATLE,

[t
Watashi wa shiken de pati ni ikimasen / BT /357 [ fT&FEHA,

. mw«. ) =% W

Kotoshi no jishin de takusan no(ie/ga kowaremashita. olmslu
5% 0 BE (0) <& B H Thh#lk, bld:L,)

So, another de~” Cay which is used in our passage which is towards the end is yuki de.” %
T, now yuki 1 &) is snow so, let us see what it means. Now de ~ CTH+) over
here is used for giving reason for doing or not doing an activity with de.” CtFE) you can

also give reason let us see what it is. So, there are two sentences over here- (F+) you can see
Mariko san has netsu fever, 4= she is not going to go to school she is going to take off or

take leave. So, now how do you join these two sentences?

One is aru kara~ & % 7> 5,64 with kara ~7)> 5@ you can say because of netsu 73

. O-ne you can do this you can also join with de.~ T, how is that? Mariko san netsu de



SEYD XA 4AD T, because of this gakkou o yasumu,F1E & {KZr. Now you
can see over here Mariko san wa netsu de.” ¥ V) X A 1Z 42> T, because of netsu
kyou 72> 4 H, today gakkou e kimasen  F1& -~ HKFEV /() of-this-now-you
ean-see-over-here-beeause-of-FI)—So, why is he using kimasen ~ = F A, why not
ikimasen V) & 3 1 /43?= So, the person who is speaking is actually in school that is how
you can use kimasen .~ & 3 /,~¥k) only when you are present at that place then you can
use this word kimasen ~ & F 1 /A4, So, he somehow knows that Mariko santF is not

going to come today she has fever.

So,-F) she will not come and not ikimasen,” V> & ¥ ¥ /A4 he could have used ikimasu
1T & F 74 only when he was outside school. Now kinou byouki de shigoto o shimasen
deshita “WEFH Wi T f(tF & LEHA TLZED because of byouki TN
9 &) because I was not feeling well, because giving reason I was not feeling well she got
shigoto o shimasen deshita (L% & L EHA TL /. Watashi wa shiken de.” F 4
#fk T @-because of shiken.” LT A, pa-ti ni ikimasen” N—F 14— |2 {T&
F A, ehieken—FE)>—=Sso, it is a decision I have made because I have shiken ehieken
tomorrow ashita no shiken de pa-ti ni ikimasen.” W1 H ©» Fk T N—F 41— I
V& F A, So, 1 have a shiken.~ [ 17 /4 ehieken-tomorrow I have a test tomorrow
and thus pa-ti e ikimasen.”/~N—F 4 — ~ {T7& E W AM). Now kotoshi no jishin de.”
SE D U LA T, kotoshi 5 4+FE) this is year, you can see from the kanji itself,
this means ima.~*> orFE) now and this is year means; so now year means this year, kotoshi
no jishin de.” 5% & U LA T jishin/” U LA is== earthquake de T, so,
because of jishin de takusan ie ga kowaremashita,” U LA T 7Z<3A F B =
P41 FE L 7=, lot of houses were destroyed or broken, kowaru.~ 727> 5= is the verb
in dictionary form and kowaru~"7>#> 2 means to break. So, kowaremashita = 241 F
L /= FEwe can say means break but over here it is being used as destroyed. Now instead
of ie.” 54F4=) which is a noun, you can use ohashi~#5/3 L, ohashi - #5/4 =) is bridge.
So, you can replace it with ohashi - #5/4 A4 over here and kotoshi no jishin de.” 54
@ L LA THEB or you can also say kotoshi no ame de takusan no ie ga kowaremashita

SZEL D T ESEA FK OB ZPhbRELE or takusan no ohashi ga



kowaremashita”7=< SA D BTl 2 TP FE L7Z Ame [ is rain, ame de,”
f7  TE because of ame ~» @) because of jishin kowaremashita,” U LA~ il
% L /=¢F). So, you can use de~ T like this now for giving reason.

(Refer Slide Time: 25:28)

w7 e VW Kk
2 () g %bllz«mk-
ashi o orimashita de
Otouto wa byouki deshita- -+ nyuu-in shimashita.
% 13 B & WYELE. Bk AR LELE,
[

Otouto wa ashi o otta kara, nyuu-in shimashita.

BIEXRE BEBo=HNS ABRLELE,

| Otouto wa ashi o otte, nyuu-in shimashita.

BIXIR%E B-oT AR LELE,

(™)

Otouto wa Jl_k__l)@ nyuu-in shimashita.
Bk CLC T ABEL#ELE,

There is practice for you-tF). So, we can remove these two from here because it is the same
and join these two sentences with particle de T with over here,<F) because he was
byouki ~TF k- 9 &@=) thus he got admitted to the hospital, nyuu-in 12w 5 /A is
getting admitted into the hospital. Now we have something else in Japanese written over here

otouto wa ashi o orimashita. Otouto wa nyuu-in shimashita,” 45 14 & & BV FEL
7o H5 1d ABE L F L= Otouto.” 75 is younger brother ashi o orimashita.” /F

& B0 ELE oru 3556 is the verb which means break, to break and ashi /¢
) is leg.

So, ashi o orimashita~ & % 359 % L /2,64 how do you think we are going to join
these two sentences? Obviously with de~” ;@4 now you will see that this is a verb, how
do you do it in de.~ TE+Y form? Till now you have done only nouns so, byouki de.” T - 5
X T netsude 42> T, jishinde” U LA T, amede i T; ) now this time
you have a verb what are you going to do? Can someone tell me? Ok we have it write here,
ashi o otta kara~J& % F5-5/- 75 because he broke his leg; oru 75 5 is to
break ortF=y to fracture. So,<F¥&) he broke his leg thus he was admitted to the hospital:



© or you can also say otouto wa ashi o otte, nyuu-in shimashita,” 5 |4 & & Fo
T, ABE L F L /= he broke his leg and after that nyuu-in shimashita 12 5 1>/

L &% L 7=6F. So, after he broke his leg he was admitted into the hospital. So, e T
form over here you will see is also similar to de.~” T over here which gives reason. You
have done the e T4 form and I am sure you can connect it over here with de T
with nouns de T is used with verbs e~ TE) is used in the dHte.~ T form of the

verb.

Now because of some accident because this is a noun over here ofouto wa jiko de nyuuin
shimashita 55 (4 U2 T AP L F L/ rbecause there was jiko [~
t+1) there was an accident he was admitted to the hospital. So, there are many other ways we
can use particle de.” T we will do those as well sometime.

(Refer Slide Time: 28:47)

ashi o orimashita de
Otouto wa byouki deshita-—Otoute-wa nyuu-in shimashita.
B3 B % Ysbi—33 AR LFELE,

Otouto wa ashi o otta kara, nyuu-in shimashita.

BIX B%E oz o ABLELE.
Kanji mistake
CorrectKkanji - otta/Hfi 572

Otouto wa ashi o otte, nyuu-in shimashita.

BIXREE HioT ABE LELE,

Otouto wa jiko ni atta node nyuu-in shimashita.

Otouto wa jiko de, nyuu-in shimashita.
BIX LT T ABR LFELL,

jiko=accident

But there was a word in our passage in chapter 8 zehi, U\ @) let us see how it is used in

our conversation and what it means?

(Refer Slide Time: 28:56)



Zehi — an adverb and means must, by all means, definitely.

wkaw o/ TWMu):

Mira: Rao san itsu Indo ni kaerimasu ka?
Rao: Raishuu no mokui’o/ubl desu.

Mira: ¢ Ja, kaerulmae ni Tanaka sensei ni atte kudasai.
Rao: Wakarimasu yo. (W) w

=7 FAEA LD AUF 12 /BYFET M7

Z4: kB0 XEH TY,

=7: Ce.EXS Hllc F0 HPEE [ §oTHEL,
4 ahUFET &L

Zehi, kond(ﬂ uchi e asobi ni kite kudasai / £ . SER~ABEULIC ETESL,

Zehi, ano eiga o mite kudasai/ U HD BRE = RTIL,
_— —

Klehi) mata aimashou / T Ff= HULVELLS,
Psh sk *

So, as you can see zehi 1 (N¥) is an adverb and means must by all means or definitely
how it is used let us do the conversation must. F=)-So, all this is understood I am sure: you
can use whichever.~F) aNext week Thursday; ¢F4) before you return. So, please remember
before mae ni~FHif|Z¢F) verb is in plain form,~F) you can remove the zehi 4 U=FE)
also taberu mae ni te o aratte kudasai,” X% FiiZ F & HEoT <720 neru
mae ni denki o keshite kudasai 125 FiiC EXK & LT <7230 before
sleeping switch off the light, uchi o dewu mae ni denwa o kakete kudasai ~5¢ 2% 25

FIZ &g & 207 T < /ZE&EUVdenwa shite kudasai EiE L T<E I 0OED

both can be used.

So mae ni~ Fif|{Z@) will take plain form of the verb and zehi " TUNFE) over here means
must Tanaka sensei ni atte kudasai, 7564 12 25 T< /2 & 0,6 it can be used

in the beginning over here or somewhere in the middle it does not matter as long as it

conveys the meaning of must. It is always used with a positive verb, zehi ikimasen .~ T

77 & £ /48 is not used or zehi tabemasen. ” 10, X FE /A4 is not used; zehi
tabete kudasai BT BT < ZE&V, zehi mite kudasai  HT TS S0,
kono atarashii eiga zehi mite kudasai,” = F LV WE VO AT EI0ED
please watch and he says wakarimasu yo. .~ 757>V #79° L @ we did wakarimasu ~427)>
) &9+ in our previous lesson. So, wakarimasu yo. 77>V F 9 L, 1 have

understood.



Of course I know over here understood and know both can be used the meaning is clear. You

do not have to tell me of course I know what I am supposed to do. Now we have zehi " C)
) over here you can see the sentences zehi, kondo uchi e asobi ni kite kudasai ~ 0\, %
JE 52 o~ JFON |2 o T< /&1, @H) this is a typical sentence used or phrase used
when Japanese will call you over or invite you over to their house. Zehi, kondo .~ 10\, 4 /%
@) next time, uchi e asobi ni kite kudasai,” 5 -~ YN 12 KT ZEI0 @B
asobi ni kite kudasai ~ O8N 12 & T< /&1, does not mean that you come and play

over here, it is an invitation to spend some time at your house.

So, it is just an invitation asobi ni irashite.” 47X |2 5 L C,@H) would be polite, kite
kudasai ~ ¢ T < /72X is informal way of inviting someone. Now zehi, ano eiga o mite
kudasai. 0O HD gl o 5L TS /ZE 0. ZehiHONHE must watch this film,
mite kudasai 4, C< /=S it is a polite request. Encouraging someone to do
something and you will see it is always in positive. Then zehi mata aimashou, 400 3 /=

UV E L - 96 of course another typical phrase the Japanese use zehi mata aimashou
SO E2 0 S E L () must, must meet again=must, ‘must’ is the meaning
must, must is very, very emphatically zehi mata aimashou &0 F7= ZWFL E D

F9 let us meet definitely sometime soon.

(Refer Slide Time: 32:51)
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So, I have some kanji for you there was this word last time hitotsu,~— =) counter for

small irregular objects. So, the hitotsu.~—, futatsu.” -, mittsu.” — -, tsu~ OFE)



plus number shows how many small irregular things are there. So hitotsu~— Oy one

and tsu~O@F) just simple like hitori~— A one and hito.” A, so hitori~— AFE) for
counting people, this is counting objects irregular objects. Now there was this word s/ou

shou V%@ if you remember last time in your conversation there was this phrase s/ou
shou o machi kudasai ~b % 357535 < 72X 1 @), So, we did this kanji last time one, two,
three and four this also means sukoshi.~/ =) meaning little few less but used for things
only sukoshi 0 L.

So, one reading is shou~ /@) and one reading is sukoshi. ' LF). Now these two will
be read like this shou shou V%@ 1 think 1 did it with you at that time basically this
character here means that this is a repetition of this reading. So, shou shou omachi kudasai.~~
e 5FFE < 75X 1 @) now you can see over here like this, this is the stroke order please

remember sometimes when I am writing here the stroke order does change. Now this time [

am telling you this is the stroke order center line first left right and then this is the last one.

Shou shou omachi kudasai =% 35735 < 72 & | @) meaning please wait for a minute or
for a while, now there are a lot of words like this we will do some other words which have
this character and the first reading is repeated. So, you have done some of them, some of
them we will do now. You already know this word %ito.~~ A=) over here hito.~ A and this
is bito. TN & hitobito.” A 4 @F-and-this-s lot of people hito. A and bito.” T & Fy-and-
F) like this, this character or this symbol is not of N4¢) this is done much later but

because we have done the word over here.

So, you can just memorize and you will know that this means that the first reading has to be
repeated. Now tokidoki 7 4@+ you have also done this tokidoki~ /4% means
sometimes but if you actually look at the character it is time, time time=time-is what it means
basically this is the meaning tokidoki ~ 7 %) and this is doki. & Z). So, you have
shou shou,” V%, hitobito,” A %, tokidoki,~ 1 % >

(Refer Slide Time: 36:51)
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And then you also have betsubetsu !/ % @H=) we did this word in our passage betsubetsu.~
Sl % ¥y separate, separate. So, betsubetsu - jl/ % (= means separately this, this and then
this. So, this is small like this and then this betsubetsu !/ % ), this word is new for you,
you can remember the character as well means separate. Now there is another word you have
done it a number of times this is iroiro.” 7 4 1, 2, 3, 4 and 5 like this and then iroiro.~”
7 % (=) meaning different types of different things iroiro na mono ga arimasu.” 4% 7%

Y 23 BV FET, iroiro na hito mo imasu B4 L A b WETED it is
very difficult to write here the pen keeps slipping=

§ so, please forgive that. Now similar looking kanji’s I had said I am going to do with you.
So, there is one kanji here today you have done this kanji character which is nan~1i/d@) or
nani {7 and this character is onaji~ /i) Uy, Now how is it made? Very, very simple
like this and a kuchi [ 1@ over here onaji | UHH=). So, very similar to nan " 11/dH=)
please do not confuse this is onaji /7] @) and this is nan.~ {1 or nani~ {1fF. So,

I will try to do more similar looking kanji’s more of these, easy kanji’s with you so that you
can remember them as words. You know the words so it is easy now to do the kanji.

(Refer Slide Time: 39:22)



Mira: Rao san, mainichi nanji ni uchi o demasu ka?
Rao: Shawa o abite kara shichi ji ni demasu.

Mira: Nan de kaisha e ikimasu ka?

Rao: Jibun no baiku de ikimasu

Mira: Hitori de ikimasu ka?

Rao: lie, tomodachi to isshoni ikimasu.

Mira: Nan ji ni kaerimasu ka?

Rao: Daitai roku-ji goro desu kedo, tokidoki hachi-ji ni
kaerimasu.

Mira: Ban-gohan wa dou shimasu ka? Uchi de tsukurimasu ka?

Rao: Hai, (watashi to tomodachi) futari de tsukurimasu. Soshite,
gohan o tabete, terebi o mite 10-ji goro nemasu.

And there is something interesting for you today there was this passage in the beginning and
now the same passage I have made into kaiwa,~ =3 77F). Read this today at home and we
will discuss this in our next class. There are lot of question words how you are going to
change a passage into a kaiwa, = 7).

(Refer Slide Time: 39:42)
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This is in your script there are lot of kanji’s that you know some kanji’s we did right now. So,
figure those out write them and practice with your partner.
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Vocabulary
migaku #HHK to polish/brush
migakimasu HMNEET  polish
goro ZhE appox. time
ryou Y5 dormitory
yuube WS5~<KE® night
futari AT=YZ A two people
furu B to rain \
yasumu PIELUE  to rest/relax 1
totemo ETH very/exceptional ‘
shizuka LIH quiet ‘
haraimasw/harau  [X55 pay \
keito [FLré& wool ‘

Now there is vocabulary do the vocabulary and come prepared for your lesson.

(Refer Slide Time: 39:59)

Vocabulary ‘
jibun CAABES my self |
kumu <L to plait/braid
jishin CLA/LEE earthquake
byouki PEIEMI ill,sick
shiken LFA/RER exam, test
oru 55 to break
jiko E= accident
nyuu-in ARz 5 A two netsu
zehi Read) must
jishin CLA/B1E self confidence
abiru HUBBU3 shower

So, with this I would like to finish today's class, there is lot of particle de.”” TEH) that we
did today different usage of particle de.” @) how to use it in sentences. What is the
difference between nan de 7%/ TE@H=) which is why and nan de. 7%/ T2 by what
means. There 1s similar looking kanji also for you words where you repeat the first reading,

for example iroiro,” 1% 4 @¥). So, try to find some more words like this and try to make

sentences and we will meet again in our next class very soon, till then arigatou gozaimasu,~

HYHE S TXUFE For mata ashita aimashou,” F7= BHH R0V FEL I 5.



